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Semester 5 Year B.A. LL.B. (Maj./Min. System) Examination, December 2019

Duration : 3 Hours

PUBLIC INTERNATIONAL LAW
(Old/New)

Instructions : 1. Answer Q. No. 9 and any five of remaining questions.
~ 2. Q. No. 9 carries 20 marks and remaining questions

Q. No. 1.

Q. No. 2.

Q. No. 3.

Q. No. 4.

Q. No. 5.

Q. No. 6.

carry 16 marks each.

3. Answers should be written either in English or Kannada

completely.

Critically examine the meaning of international-law.
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Explain the theories regarding relationship between
International-law and Municipal-law.
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Discuss about the occasion and legal impact of dejure and
defacto recognition of the state.
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Define state succession. Discuss the consequences of state
succession.
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Explain different modes of acquisition and loss. of nationality.
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Discuss the rules regarding formation and termination of
treaties.
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Q. No. 7. Discuss the compositidn and powers of security council.

Q. No. 8. Write short note on any two of the following :

Q. No. 9.
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Solve any two of the following problems :

a)

b)

Consuls.
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‘ML’ state enters into alliance agreement with ‘CD’ state.

The succession state of ‘ML’ state refuses to follow the terms
of alliance agreement. Decide the liability of successor state.
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State ‘NA’ provides asylum to X’ who is imputed under political
natured charges in its diplomatic office situated in ‘MX’ state.

‘MX’ demands surrender of X’ for the trial of charges. Decide the
liability of ‘NA’ state.
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Z’, son of diplomat causes death of ‘H’ in an accident. He pleads
immunity to defend himself against the liability. Decide.
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